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Part A

Answer anY lsn quesfions'

Each quesflon canies I mark"

1. What is the hydrolysis product of citral?

Z. What are waxes?

Give an example of an unsaturated fatty acid present in oils and fats'

4" What are hormones?Give one exarnple'

5. Write the structure of the dipeptlde:Gly-Ala'

6. What is Sanger's reagent?

7. What are enzyme inhibitors?

8. What are super molecules?

9. ldentifY the named reaction

1il" What do you rnean by bathochromio shift?

ll.Whichofthefollorvingalkenehasl.righlmax:etheneor1,3-butadiene?Why?
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12. Define mass spectruffi 
:,,,., I
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Part B

Answer any six guesfrons.

Each question carries 5 marks-

13
What is the reaction which can establish the unsaturation in the structure of natural

rubber?

Detail about the environmental aspects of delergent use.14

15. Give a brief account of vitamin deficiency diseases.

16. What is Ninhydrin reagent? How is it used for identification of amino acids?Explain giving

chemical equations.

17. Discuss the replication of.DNA.

18. Write the mechanism of enzyme action.

19. Explain molecular recognition in DNA.

20. Draw and exlain Jablonki diagram.

21. Account for the following observations (i) Substitution of an amino group on the p-position

of acetophenone shifts the C=O frequency 1685 cm-1 to 1652 cm-'l where as the

attachment of nitro group at the p-position yeilds a C=0 frequency of 1693 cm-1. (ii)An

aliphatic aldehyde containing unconjugated double bond exhibits C=O and q=C streching

at 1720-1740 cm-1 and near 1550 cm-1 respectively where as crctonaldehyde exhibits

the corresponding absorptions at 1700 and 1630 crn-1.

{6x5=30)

Part C

Answer any two quesflons.

Each quesflo n carries 10 marks.

?2. Detailthe synthesis of nicotine from N-methyl-2-pyrrolidone

23. Give an account of the primary and secondary structure of proteins.

l.+. t;. , 
'. the seccndary structure cf DNA.

25. An organic compourrd with rnolecular formula CgH10O2 exhibits following spectral data:

UV : A max= 268, 264, 262,257 nm,; lR data: 1745 (s), 1225 (s) 749 (s) and 697 {s) cm-1 ;

NIVIR data: 6= 1.96 (3H, singlet); 5.00 {2H,singlet) ,7.22 tSH, singlet). ldentify the organic

compound.

{2x 10=20)
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